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25 points

50 points (20 + 30)

115 points (45 + 70)

65 points

45 points (10 + 35)

65 points (5 + 15 + 45)
75 points

55 points (20 + 35)

110 points (20 + 40 + 50)
55 points (15 + 40)

55 points

70 points (15 + 25 + 30)
25 points (10 + 15)

80 points (30 + 50)

55 points (25 + 30)

55 points

SOLUTIONS
MEGFEJTESEK




Hidden pieces

Find the separate elements in the picture and write down their coordinates! Elements may be
rotated, but not mirrored.

Points: 25 (5 / found element)

H

B6 F4 D5 F7 B4



Balanced

Each drawing symbolizes a scale. Give value the weights marked by circles. You have to use
all the whole numbers of the range given in the brackets. Each weight must be used exactly

once. The ropes and bars are supposed to have no weight.
Points: 20 + 30

1~7

20 points
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s PR

00 |
00 ©

30 points




Magic squares

Write the given letters into the empty fields so that each letter occurs in all rows, columns
and the amorphous sections bordered by the bold lines exactly once. If the puzzle was
solved correctly, a geographical name appears in the marked diagonal.

Points: 45 + 70

BIWJL|O|C|A|NJ|JL|R
LIA|NJ|B|W|RJC|O|E
OJCIR|E|JLIN|A|W]B
RIEJOJC|N|W|BJA|L 45 points
NILIWIAJE|B|JR|C|O
A|IBJCIR|O|JL|W]E|N
CIN|IA|L]JR|E|O|B|W
EIR|IBIW|A|[O|JL|IN|C
W{OJL|IN|[B|C|E]R[JA
A B, C E L N O R W
GIO|PJL]JA|[S|T|U|N
TIA|UIN[S|O]P]IG|L
NIS|IEJUJG]IT|O|A]|P
LITIGIAJUIPIN|S]|O 70 points
O|G|T|S|P|INJA]JL|U
PIUINJO|JLJA|S|T|G
UJP|S|TJOJLJG|[N]|A
S|ILJA|JP|IN|GJU[O| T
A|IN|IO|G|TJU]JL|PS
A G L N O P, S T, U



Sherlock

The puzzle's name refers to a similar PC-game. Fill the grid with the listed marks (e.g. "A, B,
C" in sample) so that each mark appears exactly once in the appropriate row. To place the
marks correctly, the given rules must be satisfied. There 3 kinds of rules:

1. Same c The marks must be in the same

column X column.

2. Near The marks must be in neighboring
T

column columns (order may be reversed).

3. Left - The first mark must be on more left

right cl2ly column than the second.
Points: 65
3,4,5,6 -6 |53 |4 <>y
P,Q.R,S -] S|R|Q|P a<>5
apB,v,6 = |B|y|a|s B <>R
aves |y |a|ae 5<>Q
P<>e
4161y p >a Q<>3
Ply]s & >3

A few diagrams are provided for thinking...




Rectangles

Divide the figure into rectangles. Each rectangle must contain exactly one number, and this
number must show the area of the enclosing rectangle. The area of a single field is 1.

12
5
6
4 4
6
10
8
9
6
10 9

10

10 points

35 points

Points: 10 + 35



Queen's Park

Some queens (chess pieces) are hiding in the figure; their exact number is given in each
puzzle. A queen attacks all fields that are the same row, column or diagonal with her, except
when there is another queen among her and the examined field. The numbers in the fields
indicate the attacking queens' number. Mark the queens on the figure.

Points: 5+ 15 + 45

Queens are indicated by "Q".

Q 3 2 3 Q
Ql [Q
1 5 points 413
2 15points |1 |Q|3|Q 3
Ql [Q 1
Q 5 Q 1 2|0
5 queens 5 queens
214|Q 5/Q|1
Q Q4
5
8 6|6 Q] 45points
5 Q Q 4
Q 4
Q 4141113
3 41Q 2

11 queens



Mixed number-crossword

Enter digits in the grid - one per square - so that the digits in each series of white squares
add or multiply up to the number in the accompanying grey-colored cell. In the grey cells,
the numbers aligned to the right edge refer to the digits to be filled in to the right of that cell;
the numbers aligned to the bottom edge refer to the digits to be filled in under that cell. The
digit O is not used, and no digit is ever repeated in a group.

Poaints: 75

5 21 o 1s 106
a8 2 2 1|12(4(3],
24 2| 4| 3|94 8| 9|6 |43
il 53 (12|, ked 3|2
171119 7/8(5|9], ba
d41|/5/6|8[(9(4|2(3]|7
w7968, 47]|5
d 5|18, [27|6[1]9
d4|6|9|8|7[ed2(4]|8
o 3|5/1]|2] 8|2
75 points
Some hints:
1307088=—1146XX2673
1120=32x 35
2520 - 35 72

5184 =64 x 81



Magic squares with equations

Fill the figures with digits 1-5 (1-6 at the second) so that each digit occur exactly once in each row and

column, and the given equations become true.

a b W N B

D 01 A W N P

A B C D E
3/5|12|1|4
4121351
5(1(4|3|2
14523
2131 5
20 points
A B C D E F
3(5(1(2|6|4
216(4|13(1|5
41112(5|3]|6
1/3(6|4|5|2
5123|641
645 213

35 points

Ci1+D1=3
C4+C5=6
A2 +A3+A4=10
E4+E5=8
B3+C3+D3=8
D2+D3+D4=10

B4+ C4 + D4 =13
F2+F3+F4=13
Al+A2=5

A6 +B6 =10
F4+F5=3
B2+C2=10

D2 +D3 =8

Points: 20 + 35



Easy as ABC(D) diagonally

Fill the letters A, B, C in the first diagram; letters A, B, C, D in the others. Each letter occurs once in each
of the rows, columns and the longest (main) diagonals. The letters outside the diagram indicate the

letters you come across first from that direction.

(Use letters A, B and C in this figure.)

B C B C B
C B
B|A
A B C
C
C B A
B|C|A
C B A
20 points

(Use letters A, B, C and D in these figures.)

D C B B
DI C|A|B
C A|D B
D] D C
B|D|C
B B D
ClC|D
B|A D
B A B B A

40 points

Points: 20 + 40 + 50

A D A D

A C D|B

C{D|B|A A
B|AJA

B|A|D|C C
CcC|D

D B

B D A A
D A D A
50 points



Three-way crossword

Fill the crossword with the given words and the 15, asymmetrically placed black squares. All letters and
the black square are divided into 3 groups, marked by "X", "O" and " ® ". Each field must be filled with a
letter (or black square) from the field's group. The given words are group by their length.

Points: 55
X [0 X |X |0 |e |O |@ X O |X 11: ACKNOWLEDGE, UNDERGROUND.
O |e O |0 (X |e |X |O |® |X |O 7: DEMI SEC, ENCLOSE, OSTRICH, SHELLED.
X [0 |X |X |e [X |® |® (X |O |X 6: CLICHE, CLOTHE, CREATE, CRISIS, ISELLE,
O |e e e X [O X [O |e O O NELLIE, WIENER.
X |[X | O e |X |O |®e O & |O 5: AMIGA, ASTER, COLIN, DRESS, EMAIL, ERITH,
e X | |l (X O |@® |X |O |X |® GENIE, NORMA, SPADE, TWEED, UNCLE.
X |0 |e [X |O |® |® |O X |e@ |O 4: DREW, ELLA, LENK, MILO, OLEG, RATE, TALE.
O |le |0 |e |e |0 |0 e [0 e [X 3: EWE, LEO, LOP, NOR, UTA.
® (O |X [0 |0 |X e |[X [O |0 (X 2: AM, CL, ED, EX, LS, RA, SH, TL.
o [ X [O [@ [X |@ @ |®@ |X [X [X
X [X [O |O |®@ |®@ |O |X |X ® (X

The groups:
XJ]ABCDEFJPU
Ol HKLMNOQRSYV
55 points | GIOTWXYZN
UNDHEIR|GIR|IOJU|N|D
NIOIRIMIA A|IS|T|E|R
CIR|E|A|T|E T|A|L|E
L W I |EIN|E|R L|S
E(D L CIR|I'|S|I]|S
E|X CIL|I'|C|H|E
AM C|L|O|T|H|E S
MiIT|L[O S|H LIO|P
| |S|E|L|L|E E|(L|L|A
GIE|IN|I|E TIW|E|E|D
A|CIKIN|IOIW|IL|E|D|G|E




Sea serpent(ine)

Each diagram symbolizes a sea, and a serpent hiding in it. Only its head and tail can be seen, at the
fields marked by "0". The serpent's body can pass through the fields only horizontally or vertically, and
the monster can touch its own body, though only diagonally. The serpent never passes through the
fields containing numbers. These fields function as a half-sided lighthouse: they can show the number
of the fields where the serpent is present, but only towards the directions marked by arrows. Find
the serpent and draw it into the diagram.

Points: 15 + 25 + 30

15 points

25 points 30 points



Pentomino "64"

Each figure can be built up from the given 5-square forms. Each form can be used exactly once, and
each form contains exactly one square marked by "X". The forms may be rotated, but only the pieces
marked by "!" can be mirrored. Find the exact place of all given 5-sgaure forms in the figure.

Points: 30 + 50

RS U S

1
1
L - - L - -
1
1
|
1
1
1
1
1
1
1




Battleship with words

Place the listed words into the grid in a way that the squares used by the words must not be neighboring
— not even diagonally — with squares used by another names. The numbers outside the grid show how
many letters must be in the certain row or column. There are some letters outside the grid, too. These
letters must be placed minimum once in that row or column.

Points: 25 + 30

B B|E|R|L|I|N
P 1 BERLIN
A M|A|D|R|I|D BERN
R 1 LONDON
| L MADRID
S|s O OSLO
N PARIS
B B|E|R|N D 5
O
s|o|s|L|O N 5
6 2 3
25 points
D K K K L
L L
O 0 DAKAR
K DIA|K|A|R M KAIRO
L|L E LAGOS
LA L LOME
G U LUSAKA
Alo S RIA|B|A|T RABAT
S A
K K
K A KIA|I|R]|O

30 points



Scrabble

Place all the listed constellation names in the grid in a way that each word should have at least two
common letters with at least two another words. The letters in the grid (given in advance) should be
used at least by one word. Any (even two-letters) words must not be in the grid, which is not on the list.
All letters N, O, P, R and V are given in advance.

Points: 55
A(N|ID|IR|O|M|E|D|A
U R
CIE|N|T|A|U|R|U|S A
Vv A Q C C
DIE|L|P|H|I|[N]JU|S PIA|V|O
L R A I I
SIA|G|I|T|T|A|R|I]|U|S R
C I C|Y|G|IN|U|S
S|IC|IO|R|P|IT]|U|S E O
R Y S S
FIOIR[N|A|X L
C R U I IN|ID|U|S
AIR|I]|E]|S S P
N O C U
C N TIA|U|IR|U|S
LIE|O S R
C|I'|RIC|I|N|U|S S
B T I A
UIR|[SIA[M|A|I|O|R M
A N P I 55 points
S G|E[M|I|N]I
I @)
CIR|A|T|E|R
ANDROMEDA CRATER LIBRA SAGITTARIUS
AQUARIUS CYGNUS LUPUS SCORPIUS
ARIES DELPHINUS MUSCA TAURUS
CAPRICORNUS DRACO OCTANS URSA MAIOR
CASSIOPEIA FORNAX ORION URSA MINOR
CENTAURUS GEMINI PAVO VELA
CIRCINUS INDUS PISCES VIRGO

CANCER LEO PYXIS
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